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5.
(D) TEEARAIEY | NS M AR G185 - HEEErEH 2880 -
6.
(B) a1 2418 H 4652 5 2 R = M AL MG I HA R EAER] -
7.
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(D) (8500,000-4LF]) x 4% = &LFl] » &4 =$19,231
9.
(C)  $600 x 300 A x 2.5K = $450,000
10.
(C) 200 x 70% x ($2,000/FK) x (1+20%) x (255 —20FK)+200 x 10% x
($2,000/K) x (1+20%) x 4K =$1,872,000
11.

(C)  100x$2,000x80%x(3/12) — 50x$2,000 = $250,000
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(1) #%atE RIEER = -

) X1/12/31 X2/1/7
RIREEH 50,000 JEEHRIKE AR 50,000
JEEHRIKE AR 50,000 b 50,000
2.

(1) BREREEAEE7T=831,006.79% (18 F| 4% {E 5%,2451)=$100,000
XIEE A EEA B TERS 2 ARG HCA
=(2%x 14 $100,000) > <5 15 E R 25 (10%, 1 0FF ) < 18 FIERAE R B (10%,244F)
=$2,000%(6.1446)x(0.1015)=$1,248
XIFE A EEA B T 2 B E A 25 T (H=$1,248

(2) X2 AT HIA B TSRS 2 IR A
=(2%x 14 $100,000)x <5 15 E R 5 (10%, 1 0FF ) < 18 FI[ERAE R 8 (10%,234F)
=$2,000%(6.1446)x(0.1117)=$1,372
X2EFE A B TRV FIE R AR=$1,248%10% = $125

(3)E-
X2ER A EBAR T 2 e E B 25 E
=(2%x24F-x$100,000)x <5 15 E P 2 (10%, 1 0FF ) < 18 FI[ERAE R %4 (10%,234F)
=$4,000%(6.1446)x(0.1117)=$2,745
FE <V EE RIS A S,248+F E AR $ 125+ X2 FE AR 5 A $1,372=82,745 -

3.

(1) X2 R FTHANR 5 A =$1,000% A5 35 4E R #5(10%, 1 04F ) <48 FI| 33 B R #(10%,234F)
=$1,000%(6.1446)x(0.1117)=$686
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(2) X2 FEFERETEEFERL 2 FIE R A=$1,248%10% = $125 - FLIEF] Bk A1 206 (2)4H
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(SR T—/NE) -
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=$31,006.79%1.10x3.2251=$124,762
X2 R R 2 B E=2%%2 :x$124,362%(6.1446)x(0.1117)=82,876
# X2 Ry & EPENIRIEE 5% - e Al 2ens 2 Bi{E=$2,7455 2 #(3)] -
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6.
XV FEE F=IR A+ A1 2 5 AR =$800+($0-80)x10%=$300
XOEHERE MR =R A AR +3F1 15 AR =8800+(8800-8500)x10%=$830
XA H AR S iR i —hE e A T EE P B CRI22)=$80-$500x10%=8$30

X1/12/31 FEEEFZEH 800
e 500
PHEE (BRI & 300
X2/12/31 HEEEFE 830
Hth & o8 —EE (B FE T i 28 30
W 300
VP tEF & 500
(2)

X112 H31 H i EEA] & (H=8300
X212 H 31 H e EtEA] & (5=8800

7.

(1) XM hfe e tE A =R B A+ 51 2 B AR=$800+(8800-$500) x 10%=$830
XM E tE AT B i 2R R R+ E ST B E A S A Z 28
=g R+ EESH T EE E A N EEME RS IR
=$(200)+$20-500%10%=$230

X1/12/31 HEEREFIEF 800
b 500
HEE R EE 300
X2/12/31 HWEEEFIEF 830
HirsratEm—EEmAErEEEERE 230
e 400
HEEEAEE 660

(2) FEEIEFZEHIE=$800+$80+$800+200=$1,880
HEEE N 2 EE=3500+$20+$400=$920
FHEE R & E=51,880-$920=$960

UM E TR ERERAL -



8 Py 5w oTp YREfEYE

1EF Bk o =anik
HMGE &85 TRHETE LR
EEwEMEH —HEEEAET FI& g WEEWEF  ErEEE
(&) = = R (BH) FHRE AREE
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EHARFBS A $800 (800)
FIE A 80 (80)
SFEEEMEWA (50) 50
HEE B ATy $230 (200) (30)
=
PRI E B A _ $(400) 400
HEE BRI IEZ 5% $830 $230 $(400) (660)
X2/12/31 8% $(960) $(1,880) $920
8.
X3 HEHEE fR B FH =R %S A+ 3R] 2 AR =$800+($1,880—$920)x 10%=$896
X3EHEEEAET = F i 2 =TS e EE A B U A 2 288
=B R EEE N nEEEEENFER 2 IR R
=$50-$920x10%=$(42)(F85 > F| AHAMEFE TR 2 E )
X2/12/31 HEEEFIEH 896
HittsraEn—eEr I SHEEE 42
W 400
FRHEE R EAE 538
DTFEUILFERRBEZ -
E 8k et sk
H4w &8z TRHEETR
WEEEMER —tEeEEAET Fl&E WEwEs EIEEE
(f&77) = FEEER R (E7) EEEE  AnEE
X3/1/1 E5%E $(960) $(1,880) $920
EHHARE A $800 (800)
FEEA 188 (188)
SEEEMEA 92) 92
HEEEr SRR $42 (42)
T e (A - $(400) 400
HEEEAIER 5% $896 $42 $(400) (538)
X3/12/31 8345 $(1,498) $(2,868) $1,370
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9,
Er 8% =tk
HAhsF a8 ST ER
WERMER —EEAEt flafE  weEEd  sEEE
(EPa) EXHEEYR  HE (857) FHEHE  AEE
X2/1/1 &5%H $(300) $(800) $500
& HARR TS B A $300 (800)
FIE A 80 (80)
SHEEEMEUA (50) 50
PRI E EF] - $(400) 400
HEE R IE =7 8% $830 $(400) (430)
X2/12/31 t5%8 $(730 $(1,680) $950

X2/12/31 HERE 1R #EH53R (E=51,680

X2/12/31 sHE&E#EN B {E=$950

X2 RN AR B = IR A A3 S A
=$800+($880-$500)x10%=$830

X2/12/31 HEEIEFIE 830
W 400
JRHETE R AR 430
10.

X E KA P =5 SRS A+ FT IR B A+ A R R A
=$800+$100+($900-$500)x10%=$940

XU I3 T R =8 T BN 3 A I B 2 2208
I B T A B X AR 15 2 T B
=$(200)+$20-500x10%=$230

X2/12/31 HfEEtERE M 940
HAtrér e —mE R ERTER 230
s 400
HEEENAE 770
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ER 8% ot
Hh&r &8s SRR
MEEEFIEH  —EEEFET flafk  HEmfl  sIEEE
({&7) EHEEY e EH) ERHEE AnEE
X2/1/1 63%8 $(300) $(800) $500
ATEARR TS A $100 (100) _
X2//1 BREAGT ARTHARR $(900) $500
B R)
E AR A $800 (800)
F A 90 (90)
SFEEEFIEUA (50) 50
R AT E R $230 (200) (30)
FEREHEE E A . $(400) 400
e EEFIER 7 8% $940 $230 $(400) (770)
11.
4R 23=$300
X112/31  FHEEEEE 300
e tE 2 300
12.
4R R 25=$200-$300=$(100)(FI|%5) » FEFEST$%41F
X112/31 FHEEENARE 100
MEEtE A E 100
B LA EISRITIR = h 2 Be 2 5 RIE(EA0 T 97 8% -
X112/31 FHEEEN AR 300
W< 200
Tt 100
13.
HA-RHA B THER imeis B s B & 7 A B 2 i 28 JIVEYIAESs » IR

PRHEASR SRR -

XVFHM RIS THRAE = &R + ARIRSEAR + FIE A - B & B R

=$800+$0+$0 — $0=5$800
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X1/1231 BT rEFEH 800
B 500
S THEMNAER 300

XA HA R B TRE A P =8 B AE R A+ AR A A S A B < B PR AR i SRRk

=$800+100+$90-$20+$200=$1,170

X2/12/31 BT 1EFZERH 1,170
R4 400
BT EFEE 770
14.

B FH=400x$50,000 + 600x$30,000=$38,000,000
X1/1231 ETtEFIEH 38,000,000

15.

BT tEF & 38,000,000

XK © FESTHHHR & E=3600x9x(7-5)=$10,300
XU + FESTHHRA & H=$700x10x(6.5-5)=$10,500

16.

B — + FEETE H=$1,000,000x5%=$50,000
TF . FEETE H=$1,000,000x9%=$90,000

17.

18.

JE =124 F§=$2,000,000%9%—$1,000, 000x1% $170,000

EIFI6MF R c BT 2PXIAR FHEF E AT ] 581,000,000 A3 2 T
Xlgggadp 788 %4 *ﬁigwuﬁ BAdF - Ko FPREH FREGERRT
& ‘T'Jf%$2,000,0001‘*X2& o ) LIEE o

LLA=($100,000-4LA)x1/9 » &LA]=$10,000
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1.
1004FHfE &t A1 & FH =R 75 B A +3 12 AR =$76,000+($1,200,000-$800,000) x10% =$116,000

1004 o 1 RIS T2 P =1 P B B R M B A 2 = B+ R R s
=$75,000-$800,000x10%-+(~$40,000)=—$45,000(#5%%)

100/12/31 W& 1E A1 % 116,000
HArgr & B —MEeEAE EEEER 45,000
Bl 120,000
A EEARE 41,000
[1005E -

T E 1 A1 2275 37 (H.=$1,200,000+$120,000+ $76,000+$40,000-$70,000=$ 1,366,000
A EE S L EE=$800,000+$75,000+$120,000-$70,000=$925,000]
1014 M E 1R A1 FH =H 55 B AR+ F1 2 il A =$84,000+($1,366,000-$925,000)x10%=$128,100

101t et A1l 5 T 2 7 fly B =T P B B T B i A B A 2 2 88
=$86,000-$925,000x10%=—-$6,500(#5%%)

101/12/31 HfEE & FE 128,100
HAngr &t E BT EH 28 6,500
W 125,000
FHEEEAEE 9,600
2.
(1)

X QAFHE TE FiE A1) FH =l 785 1 A+ T I AR 35 i A 03 A R e A
=$20,000+$30000+($100,000-$80,000)x10% =$52,000

XOFEMEE AT S H R =R mMEst S 5 E N B A Z =R E RS
=($4,000-$80,000x10%)+$18,000=$14,000(F[ #z)

X2/12/31 WEE tEFE 52,000
A E AR 2,000
Hrdr &R a e @A EHmER 15,000

7T 40,000
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EGr 8k i =sCik
Hith&r &8s FHEE R
WEEwEFIER —HEEFE Flad - meEEd  sSrEEE
(i¥aD) EFHEEE < E E5EE AREE
X2/1/165%8 $(20,000)  $(100,000) $30,000
& BRI A $20,000 (20,000)
ATEARR S A 30,000 (30,000)
FIE A 10,000 (10,000)
SrEEEMRUA (8,000) 8,000
HEEEF TS 25 $(14,000) 18,000 (4,000)
PRI $(40,000) 40,000
AT EREF] 30,000 (30,000)
T B 1R IE 204y 8 $52,000 $(14,000)  $(40,000) 2,000
X2/12/3184%8 $(18,0000  $(112,000) $94,000

) X212 31 HMEE e A S FE R IR R

e E R R E (D)
EeHENEEET)
FERHIRLCN )

$(112,000)
94,000
$(18,000)

() XUV RXVFFIR 2 FHREE (a1 & (5 53751 £5$20,00052$18,000 ©
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3.
(D
ERT 8% i atsk
Hirgreians JFHEETE
WEEEMER —HEEEFE Fl&fE HEERER  ErEEE
(EH) EHMEEH e (EH) EBHEE AnEE
X1/1/165%8 $(500) $(6,500) $6,000
= BAAR S A $350 (350)
ATHARR S A 80 (80)
FIE A 650 (650)
srEEEMEIA (600) 600
WEE R E $310 (320) 10
==t 1
FEHEHE T 1Al $(480) 480
AR EEF] - - 520 (520)
HEEEFIIE R 57 8% $480 $310 $(480 (310)
X1/12/3165%8 $(810) $(7.380) $6,570
)
ERX % Sl ik
HsrEERS SPHEE R
WEERMER —MEEAET Fl&fE& HEEEr  ErEEE
(D) EEEEH R (B7H) EBHE  AnEE
X2/1/185%8 $(810) $(7,380) $6,570
& HARR S R A $460 (460)
HiIHARR S A 70 (70
FE R A 738 (738)
HEEEMBUA (657) 657
W EEA G $(63) 63
=
PRt E 1= A $(500) 500
S ATHEE R _ - 560 (560)
HEEEA IE 2T 8% s611 $(63) $(500) (48)
X2/12/3188%8 $(858) $(8,088) $7.230
X1/12/131  HEEEFE A 480
HarEigm— e Er T = i =5 310
FRHEE R (R 310
W 480
X2/12/31 HEEEFE A 611
Hitr4r &8 — e E AT = a5 63
FRHEE R &R 48

- 500
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(1) FFEEEIHYIEE$540,000+ A HAFEHE8$420,000 —AHHREE tE A1 2 (5 #$280,000+5 1
=AEEERN=sEEERRA 2 EES732,000
518 & E PR R I=$52,000

(2) BRI E R A2 5 ER (B $800,000+ 5 AR B A< $360,000+F 12 A A($800,000+$80,000)
x10% — T E 1R A1 {7 85$280,000+ FiT AR A5 1 A $80,000+-45 i HR 2 = HI AR IR E 1R A1 5
T E i 75=—$6,000(F75)
ST E AR B PRI Sl A A A B U A ZEEH=$52,000-$540,000%10%=—$2,000(18 %)
il TE 1B 25 P 1 3= $6,000+(=$2,000)= $4,0000F1]2:%)

A3)
X3FHEE 1R A =5 BRI A+ BT B A+ 3 A S A

=$360,000+$80,000+($880,000—-$540,000)x10% =$474,000

X3/12131  HEErEFE 474,000
HiaratBas— e ErE S ER 4,000
FEE RN AR 50,000
i 420,000
)
P
T E tRFI A RS ROE B £
X8EE
AR A $ 720,000
SFFE A
it TE AR 2755 1) I A($3,000,000% 10%) $(300,000)
STEE AR BULA$1,500,000x10%) 150,000 150,000
ATHARR S A 540,000
B F25($724,000-$624,000) (100,000

HETE FEA A $1,310,000
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)
ARAH]
BREIRIBRTE
X84E12H31H
HEE TR SR $(3,036,000)
HE BRI A N o (B 696,000
PRERCHEERFAR) $(2,340,000)

*HE T i 2 7% BB =$3,000,000+$3,000,000% 10%-+$720,000+$540,000-$900,000-$724,000+$ 100,000=$3,036,000
R TE i A S B RS A S E (E=$1,500,000+$1,500,000% 16%+$480,000-$900,000-$624,000=$696,000

6.

() X2HE
X2 FEHEE 1RAER FI=$190,000 + ($200,000-$200,000)x10%=$190,000

X2 FHEE R SR
= FHEIEL $10,000 + SHEZEEH $150,000-$200,000%10%
=$120,000 Fl]z5
(H B2 $10,000= 4~ £+ E $200,000 + 415 =+ &~ $20,000
HIRFE S & $190,000 —% 1%k & $110,000 — # % £F+RE $310,000 5 # 4= F A $200,000
+ He# $160,000+ 3+ F F AP Sx— £ ik £ $110,000= # % F A $400,000- #7123+ F
F A =$150,000)
X3 FEHEE R FIE FI=$270,000 + ($310,000-$400,000)x10%=$261,000
X3 FHEE R SR
= FEEF23$31,000 + HEEERHN$30,000-$400,000 x 10%
=$21,000 F|25
(H & 11 £$31,000 = # 4~ £33 E $310,000 + ep 6% A& $31,000 + FRF%= A $270,000 — 2 i
kg $0- Kk HAAME $580,000 5 Hi- T A $400,000 + A& $200,000 + 3+ H F AR $x
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